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|f ml’; : 2, then (4m + 5n): (4m - 5n) is equal

to: ~—_ T
I m: n=3:2, d (4m + 5n) : (4m - 5n) TR
SR B2

(1) 4:9 2) 9: 4 3)11:1 (4) 9: 1
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If @3 (2 )then the ratio 2x2 + 3y2 : 3x2 - 2y? is

equalw
ﬂﬁx:y=3:2%,ﬁ

BRTT—
(1)12:5 (2) 6 :(5

2x% + 3y? : 3x% - 2y? K

(3)30:19 (4)5:3
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If a and b are rational numbers and a + b /3

1
_\/5 , then a : b is equal to
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The ratio of boys and girls in a college is 5 : 3. If 50
boys leave the college and 50 girls join the college,
the ratio becomes 9 : 7. The number of boys in the

college is

T Helaared § gl de aigfhal o1 79[ 5 : 3 &
39 § Il 50 dEh WRaeE™d 3ig § 3R 50 AsS{wal
Telfoemer o a1 ¢, a ST 9 9 : 7 & il &l
TETIR, S9 Welaaed | @ehi &1 9 faadt 2?2

(1) 300 (2) 400 (3) 500 (4) 600
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In whole world, the ratio of land & water is 1 : 2. If
this ratio is 2 : 3 in North hemisphere then what is
the ratio of land and water in South hemisphere 7
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Find two mean proportionals between 2 and 54.

2 a9 I AEAEUT | SIS

12 and 18 (ﬂ%ﬁandg
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fOC-y): (xX2+xy+y)=5:Tand (x*-y?): (x-y)
= 7/ : 1, then the ratio 2x : 3y equals
:(x2+xy+y2)=5:13-$||'{(x2—y2):(x—y)=
2x : 3y fore SR ®?
(2)2:3 3) 4:3
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If 18, x and 50 are in continued proportion, then the

6 o value of x iIs
AR 50 faqd T § €, @ x &1 91 @
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By mistake, instead of dividing< 117 among A, B

o D\xr | 111 o |
2 ! B 3 ’ 4 and C in the ratio 551 it was divided in the ratio
"~ of 2 : 3: 4. Who gains the most and by how much?

Ty AU
;/F 117 %o &l A, B 3R CH Lo % 3TU H §lel Sl
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The sum of 5% of first number and 4% of second
2
number iIs g of sum of 6% of first number and 8% of

second number. The ratio of first number to second
number is

el Tk TN & 5% TR T T & 4% 1 I, Teait

. N ) \ 2
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(1)2:3 (2)3:2 (3)3:4 (4) 4 : 3
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Seven years ago, theratioof A's age B'sagewas 4: 5
and after 7 years their age will be in the ratio 5 : 6.
The present age of B is

7 98 g4, AamBaﬁaﬂ(‘orsﬁ‘ﬁ')zl 5qla11q|qﬁ9ﬁ

qul 799 &% 9K 9 5: 6% 811%|c1ﬁ%°ﬂﬁl8oh| SAHH

3T &

(1) 56 years / a8 (2) 63 years / 9d

(3) 7Q.years / o (4) 77 years / 9H
)
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My grandfather was 9 times older than me 16 years
q @-\ ago. He will be 3 times of my age 8 _years from now.
¥

Eight years ago, the ratio of my age to that of my
\é randfather was
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